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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is Authentic

1. List any four header files of C™ with its function.

2. Define Encapsulation, Inheritance and Polymorphism.
Write a valid C™" program for following:

1. To find out factorial of given number.

2. To find out largest no. out of three given numbers.

1. Explain “cin” and “cout” statement with example.

2. Explain “for” Loop in C™" with example.

Write a valid C™" program to find slope and deflection at every 0.1 m interval in
a cantilever beam of span L m subjected to UDL of intensity W kN/m on the
entire span. Take input of span L, UDL W and Flexural rigidity EI.

3 4

Slope 6 = WL , Deflection 6 =
6El

8EI

OR
Write a valid C™ program to find shear force and bending moment at every 0.1
m interval in a cantilever beam of span L m subjected to UDL of intensity W
kN/m on the entire span. Take input of span L, UDL W.

: wr’
Shear Force V=W L, Bending Moment M = .

Write a valid C™ program to find Euler’s Crippling load P for circular column
of diameter d using switch-case statements. Take Input of d, E, [ and L.
2
P = V4 E;']
Le
Take 1. Le = L (Both end hinged)
2. Le = L/2 (Both End Fixed)

3.Le= iz (One End Fixed other end hinged) and

J2

4. Le =2 L (One End Fixed other end free)
Write a valid C™" program to find axial load carrying capacity P of a short
rectangular RCC column. Take dimensions of column b x d in mm, grade of
concrete fck and grade of steel fy in N/mm?, area of steel Asc in mm?®. Take
input of b, d, fy, fck and Asc.
P=04fck Ac +0.67 fy Asc, Ac=Ag-— Asc.

OR

Where Le = Effective length of column.
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(@) Write a valid C™" program to find resultant R and its point of application 6 of 07

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(b)

two forces P and Q. Take input of P, Q and Angle between them in degree.

R= \/P2 +Q% +2PQcosa , 0= tan{ﬂ].

P+ Qcosa

Write a valid C™" program to find moment of resistance Mu of a singly RCC 07

beam having width b and effective depth d in mm, grade of concrete and steel
are respectively fck and fy in N/mm”. Area of steel Ast. Take input of b, d and

Ast. Use fck =20 N/mm® and fy=415 N/ mm*.  Xu

0.48d

_ 0.87 fydst
0.36 fckb ~

Xu< Xumax — URS — Mu = 0.87 fydstd(1 - Jdst

fekbd

Xu=Xumax — Balance — Mu = 0.138 fckbd*

Xu> Xumax — ORS — Mu = 0.138 fckbd*

1. Write Advantage of AutoCAD over manual drafting.
2. Explain “Block” and “Wblock” command in AutoCAD giving appropriate

example.

Write series of commands to prepare plan and front elevation of a room of
inside dimensions 5 m x 3 m and 25 cm wall thickness. The room has door of

size2.1mx 1.2 m.

1. Differentiate following command
(1) ZOOM and PAN
2. Name Various structural design software at least three available in market as

you know.

Give AutoCAD command sequence to draw ISMB600. Take bf =210 mm,

tw =12 mm, tf = 20.8 mm.

OR

(2) MOVE and COPY

1. Explain following commands in detail.

(1) VPOINT

(2) VIEWPORT

2. Differentiate between REVSURF and RULESUREF.
1. Explain following commands with Example.

(1) ARRAY

(2) MIRROR

2. Explain object selection methods in AutoCAD.

1. Explain following commands:

(1) ELEVATION

OR

(2) THICKNESS

2. Explain following 3D commands in brief:

(1) BOX (2) SPHERE

1.Explain following Commands:

(1) 3D ROTATE

(3) WEDGE

(2) EXTRUDE

umax =

2. Explain the use of LAYER command with its all options giving appropriate

example.
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1. o{lAetl sHIoS cAslald AW
(1) ZOOM = PAN (2) MOVE A COPY
2. R5UA [$R18otoll 818 URL ARl Als2AReAL ollH VL.

As ISMB600 €lRcll HI2 AutoCAD $HLeS ([@Qoldcllr cull
bf =210 mm, tw =12 mm, tf=20.8 mm .
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(1) VPOINT (2) VIEWPORT
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1. o{lAotl sMLes GELENL UL UMl

(1) ARRAY (2) MIRROR
2. AutoCAD Hl object selection ol (At Al Ansal.
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(1) ELEVATION (2) THICKNESS
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(1) BOX (2) SPHERE  (3) WEDGE
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(1) 3D ROTATE (2) EXTRUDE

2. LAYER commandell GU09L Aol titll % options A& GEL&QL UL AHsA,
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